CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and charges. S	
1, 5000 1 11.0.001	hereby request station time as follows:
IDENTIFY CANDIDATE TYPE	AL CANDIDATE
	OR LOCAL CANDIDATE
ALL QUESTIONS/BLOCKS	MUST BE COMPLETED
Candidate name: Davius Mitchell	for President
Authorized committee:	
Agency requesting time (and contact information):	
N/A	
Candidate's political party: Republican	
Office sought (no acronyms or abbreviations):	
Date of election: $1/33/2(3)$	General Primary
Treasurer of candidate's authorized committee:	itchell
The undersigned represents that:	
(1) the payment for the broadcast time requested has been furn	nished by (check one box below):
the candidate listed above who is a legally qualified can	didate, or
the authorized committee of the legally qualified candid	late listed above;
(2) this station is authorized to announce the time as paid for by	such person or entity; and
(3) this station has disclosed its political advertising policies, inc and other sales practices (not applicable to federal candidate)	
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISC IN THE PLACEMENT OF ADVERTISING.	RIMINATION ON THE BASIS OF RACE OR ETHNICITY
Candidate/Committee/Agency	Station Representative
Signature: Michael	Name:
Name: Darius Mitchell	Name: J. M. Gowan
Date of Request to Purchase Ad Time:	Date of Station Agreement to Sell Time:

Federal Candidate Certification: The undersigned hereby certifies that the to an opposing candidate or, if it does, (2 for a duration of at least four seconds and the candidate approved the broadcast are broadcast or if radio programming, contains the office being sought and that the candidate approved the second that the candidate approved the broadcast or if radio programming, contains the office being sought and that the candidate approved the second that the candidate approved the second to the second that the candidate approved the second that the second tha) contains a clearly identifiable photograp d a simultaneously displayed printed state nd that the candidate and/or the candidat iins a personal audio statement by the car	h or similar image of the candidate ment identifying the candidate, that e's authorized committee paid for the
Candidate/Authorized Committee/A	Agençy	
Signature:	Mtchell	
Name: Davius Mit	chell	
Date: 10/2024		
TO	BE COMPLETED BY STATION O	NLY
Ad submitted to Station? Yes	No Date ad received:	1119124
Note: Must have separate PB-19 For	ns for each version of the ad (i.e., for	every ad with differing copy).
Federal candidate certification signed (ab	pove): Yes No	N/A
Disposition: Accepted Accepted IN PART (e.g., ad copy Rejected – provide reason:	not yet received to determine sponsor IE))*
*Upload partially accepted form, then pr Date and nature of follow-ups, if any (e.g.	omptly upload updated final form when o	omplete.
Contract #: 136165	Station Call Letters: WROR	Date Received/Requested:
Est. #:	Station Location Poster	Run Start and End Dates:
use this space to document schedule of purchased or attach separately. If station	time purchased, when spots actually aired will not upload the actual times spots air	ts reflecting this transaction to the OPIF or d, the rates charged and the classes of time ed until an invoice is generated, the name red in the "Terms and Disclosures" folder in

Broadcast Contract

Start Date Contract# Mod# 01/23/24 136165 0 **End Date Date Entered Date Last Modified** 01/23/24 01/22/24 01/22/24 Advertiser Station Market Darius Mitchell for WROR-FM Product SalesRep/Office Darius Mitchell for Presi James McGowan

Darius Mitchell for President Attn: Accounts Payable 380 Lafayette Road, Unit 11 Seabrook, NH 03874

Attn: Darius Mitchell

Standard Billing Cycle Estimate# 2024

LN	DA	TE			TIM	ES/PROGRAMS	LEN LINE F		TU RK	WE	TH	FR	SA	SU	SP(OTS	RATE
1	TU	01/23/24	TU	01/23/24		06:00A-10:00A	60	,		1 -				-		1	\$400.00
2	TU	01/23/24	TU	01/23/24		06:00A-10:00A	30			1 -	-			n 1 -	•	1	\$300.00
		al alition of	C			Total Culata	Consta To	4-10								Made	0
		aditional	Con	nments		Total Spots	Spots To	tai\$								Net	Gross
						2	700.0	0							\$	700.00	\$ 700.00
Specia	al Billi	ng															
Billing	Proje	ections: B	у Мо	<u>nth</u>													
		CA ST		Jan 24 700.00 700.00													

NON-DISCRIMINATION: IN THE PERFORMANCE OF ALL BEASLEY STATION'S ADVERTISING AGREEMENTS, BEASLEY REQUIRES THAT EACH PARTY NOT DISCRIMINATE ON THE BASIS OF RACE OR ETHNICITY.

Accepted for Station		Accepted for advertiser OR agency(and MBS, if any) as agen				
Name	 Title	 Name	Title			
See reverse for accepted terms	and conditions, if any		Page 1			

Darius Mitchell 1/23

From: Jim McGowan Phone: (508) 472-6301

BEASLEY

Email: Jim.McGowan@bbgi.com 1/22/2024 12:51 PM

Flight Dates: 01/23/2024 - 01/23/2024 Demo: P 18+

ScheduleDescription:

Radio Market: BOSTON

Survey: DEC23 / NOV23 / OCT23

Geography: Metro

	Daypart	Spots	Length	Unit Rate	Total Cost	Average	CPP	GRPs	god god	% of Total	% Reach	Net Reach	Frequency	GIS	CPM
Radio Total		10		\$315.00	\$3,150.00	0.3%	\$1,050.00	3.0	%	100%	2.5%	99,900	1.2	116,200	\$27.16
WBOS-FM		2		\$225.00	\$450.00	0.2%	\$1,125.00	0.4	13%	14%	0.3%	11,800	:	12,800	\$35.16
Schedule - 1 wk (01/22)															
		2		\$225.00	\$450.00	0.2%	\$1,125.00	0.4	13%	14%	0.3%	11,800	11	12,800	\$35.16
One Week Total		2		\$225.00	\$450.00	0.2%	\$1,125.00	0.4	13%	14%	0.3%	11,800	11	12,800	\$35.16
	M-F 6A-10A	_	60	\$250.00	\$250.00	0.2%	\$1,250.00	0.2	50%	56%	0.2%	6,400	1.0	6,400	\$39.06
	M-F 6A-10A	_	1 30	\$200.00	\$200.00	0.2%	\$1,000.00	0.2	50%	44%	0.2%	6,400	1.0	6,400	\$31.25
WBQT-FM		2		\$250.00	\$500.00	0.2%	\$1,250.00	0.4	13%	16%	0.4%	17,700	11	18,800	\$26.60
Schedule - 1 wk (01/22)															
		2		\$250.00	\$500.00	0.2%	\$1,250.00	0.4	13%	16%	0.4%	17,700	11	18,800	\$26.60
One Week Total		2		\$250.00	\$500.00	0.2%	\$1,250.00	0.4	13%	16%	0.4%	17,700	11	18,800	\$26.60
	M-F 6A-10A	_	1 60	\$300.00	\$300.00	0.2%	\$1,500.00	0.2	50%	60%	0.2%	9,400	1.0	9,400	\$31.91
	M-F 6A-10A	_	1 30	\$200.00	\$200.00	0.2%	\$1,000.00	0.2	50%	40%	0.2%	9,400	1.0	9,400	\$21.28
WBZ-FM		2		\$487.50	\$975.00	0.6%	\$812.50	1.2	40%	31%	1.0%	41,300	1.1	45,600	\$21.38
Schedule - 1 wk (01/22)											-				
		2		\$487.50	\$975.00	0.6%	\$812.50	1.2	40%	31%	1.0%	41,300	1.1	45,600	\$21.38
One Week Total		2		\$487.50	\$975.00	0.6%	\$812.50	1.2	40%	31%	1.0%	41,300	=	45,600	\$21.38
	M-F 6A-10A	_	60	\$525.00	\$525.00	0.6%	\$875.00	0.6	50%	54%	0.6%	22,800	1.0	22,800	\$23.03
	M-F 6A-10A	_	1 30	\$450.00	\$450.00	0.6%	\$750.00	0.6	50%	46%	0.6%	22,800	1.0	22,800	\$19.74
WKLB-FM		2		\$262.50	\$525.00	0.2%	\$1,312.50	0.4	13%	17%	0.4%	14,600	==	15,600	\$33.65
Schedule - 1 wk (01/22)															
		2		\$262.50	\$525.00	0.2%	\$1,312.50	0.4	13%	17%	0.4%	14,600	111	15,600	\$33.65
One Week Total		2		\$262.50	\$525.00	0.2%	\$1,312.50	0.4	13%	17%	0.4%	14,600	11	15,600	\$33.65

The first demo listed is the Primary Demo.

Copyright @ 2024 The Nielsen Company. All rights reserved. This report was created in TAPSCAN using the following Radio information: BOSTON; DEC23 / NOV23 / OCT23; Metro; M-F 6A-10A; P 18+; See Detailed Sourcing Page for Complete Details.



Darius Mitchell 1/23

From: Jim McGowan

Phone: (508) 472-6301

Email: Jim.McGowan@bbgi.com 1/22/2024 12:51 PM



	Daypart	Spots	Length	Unit Rate	Total Cost	Average Rating	CPP	GRPs	% of GRPs	% of Total Cost	% Reach	Net Reach	Frequency	Gls	CPM
WKLB-FM (continued)															
	M-F 6A-10A	_	1 60	\$300.00	\$300.00	0.2%	\$1,500.00	0.2	50%	57%	0.2%	7,800	1.0	7,800	\$38.46
	M-F 6A-10A	_	1 30	\$225.00	\$225.00	0.2%	\$1,125.00	0.2	50%	43%	0.2%	7,800	1.0	7,800	\$28.85
WROR-FM		2		\$350.00	\$700.00	0.3%	\$1,166.67	0.6	20%	22%	0.5%	21,800	1.1	23,400	\$29.91
Schedule - 1 wk (01/22)															
		2		\$350.00	\$700.00	0.3%	\$1,166.67	0.6	20%	22%	0.5%	21,800	11	23,400	\$29.91
One Week Total		2		\$350.00	\$700.00	0.3%	\$1,166.67	0.6	20%	22%	0.5%	21,800	1.1	23,400	\$29.91
	M-F 6A-10A	_	60	\$400.00	\$400.00	0.3%	\$1,333.33	0.3	50%	57%	0.3%	11,700	1.0	11,700	\$34.19
	M-F 6A-10A	_	1 30	\$300.00	\$300.00	0.3%	\$1,000.00	0.3	50%	43%	0.3%	11,700	1.0	11,700	\$25.64

The first demo listed is the Primary Demo.

Copyright © 2024 The Nielsen Company. All rights reserved. This report was created in TAPSCAN using the following Radio information: BOSTON; DEC23 / NOV23 / OCT23; Metro; M-F 6A-10A; P 18+; See Detailed Sourcing Page for Complete Details.



Darius Mitchell 1/23

From: Jim McGowan

Phone: (508) 472-6301 Email: Jim.McGowan@bbgi.com

1/22/2024 12:51 PM



Schedule Grand Totals: 1 Week

Stations	Spots	Unit Rate	Total Cost	Average Rating	CPP	GRPs	% of GRPs	% of Total % F Cost	% Reach	Net Reach	Frequency	Gls	CPM
Radio Total	10	\$315.00	\$3,150.00	0.3%		3.0	100%	100%		99,900	1.2	116,200	\$27.16
WBOS-FM	2	\$225.00	\$450.00	0.2%	\$1,125.00	0.4	13%	14%	0.3%	11,800	11	12,800	\$35.16
WBQT-FM	2	\$250.00	\$500.00	0.2%		0.4	13%	16%		17,700	==	18,800	\$26.60
WBZ-FM	2	\$487.50	\$975.00	0.6%		13	40%	31%		41,300	1.1	45,600	\$21.38
WKLB-FM	2	\$262.50	\$525.00	0.2%		0.4	13%	17%		14,600	11	15,600	\$33.68
WROR-FM	2	\$350.00	\$700.00	0.3%		0.6	20%	22%		21,800	11	23,400	\$29.9

	Accepted by Station Date
--	--------------------------

This station does not discriminate in the sale of advertising time and will accept no advertising which is placed with an intent to discriminate on the basis of race, gender or ethnicity. Advertiser hereby certifies that it is not buying broadcasting air time under this advertising sales contract for a discriminatory purpose, including but not limited to decisions not to place advertising on particular stations on the basis of race, gender, national origin or ancestry.

The first demo listed is the Primary Demo.

Copyright @ 2024 The Nielsen Company. All rights reserved. This report was created in TAPSCAN using the following Radio information: BOSTON; DEC23 / NOV23 / OCT23; Metro; M-F 6A-10A; P 18+; See Detailed Sourcing Page for Complete Details.



Detailed Sourcing Summary

Radio Market: BOSTON Geography: Metro Survey: Average of Nielsen Radio December 2023, Nielsen Radio November 2023, Nielsen Radio October 2023

Daypart: Monday-Friday 6A-10A

Demo/Intab/Population:

		Pop	Population	In the state of th	Intab
Age/Gender Avg Daily Avg Weekly Avg Daily Avg Weekly	Age/Gender	Avg Daily	Avg Weekly	Avg Daily	Avg Weekly
Adults 18+ (Primary) 4,066,100 4,066,100 1,657 1,470	Adults 18+ (Primary)	4,066,100	4,066,100	1,657	1,470

Stations: User Selected

Stations qualify to be reported if they have received credit for five or more minutes of listening and meet a minimum reporting standard of 0.1 AQH unrounded rating in the Metro survey area, Monday-Sunday 6AM-Midnight, during the survey period. If a current Nielsen client does not meet this minimum reporting standard, Nielsen will report the station as long as credited listening is received from at Estimates reported for dayparts which start and end between 12m and 5a are based on the 5a-5a broadcast day. Estimates for all other dayparts are based on the 12m-12m calendar day.

PPM estimates are derived from the PPM technology and methodology and are subject to the qualifications and limitations stated in that Report. The TAPSCAN Web software product is accredited by the Media Rating Council and reports both accredited and non-accredited data. For a list of the accredited and non-accredited Nielsen radio markets and data available through TAPSCAN, click here: http://www.arbitron.com/downloads/MRC_Accredited_Services_Markets.pdf

The Reach and Frequency Model utilized by Nielsen is formulated on the bases of the Harris Model, a Linear Frequency reach-and-frequency model, and the Slide Rule audience (cume) growth model

http://ascription.nielsen.com

Rating Reliability Estimator

https://rre.nielsen.com

A Nielsen Radio eBook Special Notices and Station Activities document has been generated for each survey. Please select the hyperlink to the survey that interests you

https://ebook.nielsen.com/secure/PP6/2023OCT/0013/pdfs/SpecialNotices.pdf

Report: Copyright 2008 Nielsen. Software: Copyright 2008-2020 Nielsen. Nielsen Radio Data: Copyright 2023 Nielsen. All rights reserved. For use pursuant to a license from The Nielsen Company. Subject to the limitations and qualifications disclosed in the data and reports.

Copyright © 2024 The Nielsen Company. All rights reserved TAPSCAN is a mark of TAPSCAN Inc. used under license. Nielsen and the Nielsen logo are trademarks or registered trademarks of CZT/ACN Trademarks, L.L.C

